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(Questions 1-7 carry 1 score cach Answer all
questions. (1=7=T)

[

Write any one molecule in which Octet
rule is violated

Fe(8)+ 2Helag) — FeCliog)+ Hy(g)
is an example of

a)  Combination reaction

b) Displacement reaction

¢)  Decomposition reaction

d)  Disproportionation reaction
Name of the products X and ¥ in the
following reaction

Zn+2INaOH — x+ ¥

| mole of sodium chloride =
formulae units of sodium chloride.

Which of the following group of
clements arc having the highest
ionization enthalpy

~a)  Group | elements

by Group 17 elements
¢} Group 18 elements

d)  Group 2 elements
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6, The hybridization of Boron atom in BF,
is

7. Which is the strongest reducing agent
among alkali metals

Question & to 20 carry 2 scores each Answer

any 10 questions. (10:2=20)

8. Which one among NM,and NF, has
higher dipole momen? Why?

9. Why do real gases deviate from ideal
behaviour?

10, Classify the following properties in to
state functions and path functions,

Heat, Pressure, Volume, Temperature

11.  Calculate the pH of 0.02 M Hel.

12, State Mendeleev’s periodic law.

13, Write the law of definite proportion,

14, What will be the wave length of a ball of
mass (1.1 kg moving with a velocity of
10 ms'?

15, Draw the shape of 15 and 2s orhitals,
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20.

&.

Maolar volume is an intensive property
Jjustify,
What is electro negativity? Mention any

one scale of electro negativity?

Water is a liquid at ordinary temperature.

ButH,$ is a gas why?

Au=g+w State the law for the above

mathematical expression,

CaCe, = Cap,, +Coy Write the

expression for equilibrium constant.

Question 21 1o 28 carry 3 score each, Answer

any 7 questions.

21

s

23

(Tx3=21)

30 Kg. of M,(g) and 10 Kg. of FL(g) are
mixed to produce NH,(g). Calculate the
NH,(g) formed? Identify the limiting
reagent in the production of NH, in this

sityation.

Write 3 important characteristics of

anode rays or canal rays.

Describe the line spectrum of Hydrogen,

20.

21
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4.

25.

26.

27,

28,

29,

Write down any 3 postulates of VSEPR

Theory.

Write the hybridization in the case of
PCL? Why are axial bonds are longer

than equatorial bonds.

Using MOT, Explain why Be, molecule

docsnot exist?

N

og) T3y = 2NH

AH =-92.38k)/mol

What is the effect of temperature and

_pressure in the above equation.

The ionisation of NH, OH is suppressed

by adding NH, Clwhy?

Calculate the lattice enthalpy of sodium

chloride using Bom-Haber cycle.

23,

26.
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Answer any 3 questions from question

numbers 30 to 33 Each carmies 4 score.
(3%4=12)

30. i) Write the stock notation of the
following V.0, Fe,O,
ii) Balance the following reaction

using oxidation number method.

Cr 0, (ag)+ 50,7 — Cr™ (ag) + S0, {ag)

31, Give the reason for the permanent
hardness of water and suggest two

methods for removal of permanent

hardness.

32. Why Lithium exhibits anomalous
Properties? Write any two similarities

berween lithium and Magnesium.
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i}

ii}

Derive ideal gas equation

At 25°C and 760 mm of Hg
pressure a gas occupies 600 ml
volume. What will be its pressure
at a height where lemperature is

10°C and volume ofa gas is 640ml.
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